al
l (1> 2° 20 GA STRUT ON

24 GA. MIN EXTERIOR SKIN TOP AND INTERMEDIATE SECTIONS
2’ X 20 GA STRUT w/BAKED ON POLYESTER FINISH ATTACHED W/(@) 1/4° x 3/4°
ATTACHED W/ (2> 1/4° X 3/4° 14GA, DURASAFE HEX HEAD SCREWS AT EACH END
] HEX HEAD SCREWS PER STILE CENTER HINGE ATTACHED 14 GA, DURASAFE AND CENTER STILE LOCATION
— ; s e A END HINGE ATTACHED
12 GA. GALV., COMMERCIAL HEX HEAD SCREWS W/ @ 1/4° x 3/4°
(TP ROLLER BRACKET é® HEX HEAD SCREWS
ATTACHED W/(3) 1/4° x
‘ 14GA. DURASAFE
3/4* HEX HEAD SCREWS I\ ROLLER CARRIERS ATTACHED 12 GA COMMERCIAL
PER BRACKET Y ) , TO END STILE W/ (@ 1/4° x 3/4° OP FIXTURE ATTACHED W/(3)
EX H RIER , - 1/4° x 3/4’ HEX HEAD SCREWS
1 f— | HEX HEAD SCREWS PER CAR V4 x /4 HEK JE
ADJUSTABLE SLIDE BRACKET ATTACHED
W/@ 174" x 1/2 BOLT AND NUTS
27 10 BALL STEEL ROLLER
E— a— W/4.5" STEM MIN. AND <1> 7/16°
2° X 20 GA STRUT ATTACHED
[ ] BOLT RETAINER USED FOR w o e 2% 10 BALL STEEL ROLLER
P THREADED FASTENERS HEX HEAD SCREVS PER ‘ W/45¢ STEM MIN. AND (1) 7/16" ~ CFC-FREE. EXPANDED
END STILE AND W/ (2> 1/4° X 3/4° = BOLT RETAINER USED FOR \ .
— HEX HEAD SCREWS PER CENTER STILE THREADED FASTENERS =k POLYSTYRENE INSULATION
TYPICAL TOP FIXTURES @ _TYPICAL DURASAFE END HINGE @ Ty
N.T.S. TS.

END_HINGE
14 GA,

(1> 3 20 GA STRUT ON BOTTOM SECTION
ATTACHED W/<(2) 1/4* x 3/4°
HEX HEAD SCREWS AT EACH

TYPICAL DURASAFE CENTER HINGE@
N.T.S.

r-_.._.A BOTTOM BRACKET END AND CENTER STILE LOCATION
13 GA. ATTACHED
; @) 1/4* x 3/4 W/(3) 174" X 3/4°
HEX HEAD SCREWS HEX HEAD SCREWS
P g | 'm prm i I}
[ - \ !
Y
2* 10 BALL STEEL ROLLER
] W/45° STEM MIN, 27 GA. MIN INTERIOR SKIN
2 20A AND <1) RETAINER USED FOR
x , THREADED SHAFTS PER ROLLER
STRUT \ [ /

13GA BOTTOM BRACKET
ATTACHED

W/ (D 174" x 3/4°
HEX HEAD SCREWS

STRUT CLIP
\\jk TYPICAL BOTTOM BRACKET@
CONT. ALUMINUM RETAINER

TYPICAL TOP STRUT ATTACHMENT, 5 N.T.S.
N.T.S.
W/ CONT. BTM SEAL

- | ARGE MISSILE cecnon D connnl
IMPACT RESISTANT

REV | DESCRIPTION OF REVISIONS DATE | BY
SPECIFICATIONS AND NOTES
MAX SIZE = E
. 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK, 9’ WIDTH 73 NN N
. FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS. 14" HEIGHT | 33 SREOF Toh, 3]
! ! THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD DESIGN LOADS | B2 ERANMEIEEN o N S
2 o 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: +38.0 PSF g g% RO £
.@ 15, +171.0 LBS/FT & —202.5 LBS/FT 7250 PSF o= g
3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED PR A e &
e AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. 18 A0S | £5 g
547 4. DOOR SECTIONS SHALL BE 24 GA. (.0216) MIN. EXTERIOR SKIN Tis70 psF | ES ; z
- ROLLED FORMED, W/ BAKED ON POLYESTER FINISH Ters por | 22 e LICENSEO 2
5. DOORS OVER (4) SECTIONS REFER TO TABLES 1 AND 2 ‘ 52 t S "\e\‘\-’ E
INSIDE_ELEVATION 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED LARGE MISSILE | & 5 oA B 2
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS resornce | 22 e g
(1) 5/16" DIA. x 1-5/8" ) 2-5/8” X 3-1/2" 18GA & TX o
LAG BOLT ATTACHED TO JAMB STEEL BACKER PLATE GLUED TO 2 X 6 SYP OR SPF
AT EA. JAMB BRACKET INSIDE EDGE AT TOP AND BOTTOM (NO. 2 OR BETTER)
OF EACH STILE LOCATION
THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE ENTREMATIC
L WITH THE PROCEDURE DESCRIBED IN DASMA 108 & 115, ASTM INTERIOR OF GARAGE
/ E330, E1886, E1996, & F588. THE PRESSURES SHOWN ON THE L _
= 7 / i 1 / . DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH THE ——  MAX. WIDTH 9°0 - 165 CARRIACE COIRT VINOTONTSPLEW, NC 27109
7 / 7/ FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE END AMARR MODEL #1200 HERITAGE 3000
:&\Eﬂocéhﬁ?w’ STEEL = — ZONE, ROOF AT ANY SLOPE I=1.0): AMARR MODEL #1200 OAK SUMMIT 3000
WIND SPEED (MPH) | 155 | 141 124 | 128 | 123 pesieN Loads [T T 1111111 1] SHORT, LONG, FLUSH & OAK SUMMIT PANELS
{/4-20 x 5/8"TRACK EXPOSURE LEVEL B_ < < o D +171.0 LBS/FT ke NoTE 2 SE| ORAWBY RR| DAE 2/105 DRAWNG NUMBER
SPLICE BOLT AND NUT MEAN ROOF HEIGHT | 30 15 25 15 25 202.5 LBS/FT
OR (3 RIVETS TRACK _MOUNTING DETAIL 2" GALV. STEEL TRACK, B | CHECKEDBY RIR | DA 2/10/15 IRC-1209-155-15-
N.T.S. :
SHEET 1 0OF 3




OPTIONAL SHORT AND LONG PANEL GLAZING LAYOUTS

T0P SECTION

INTER T

0557 6060 EXTRUDED ALUMINUM
IMPACT INTERIOR FRAME
W/.375* BITE ON GLASS

174* MAKROLON POLYCARBONATE
/ MANUFACTURED BY BAYER

(14> #8 X 1" PHILLIPS
HEAD SHEETMETAL SCREWS
USED TO FASTEN THE ALUMINUM

INTERIOR FRAME TO THE
ALUMINUM EXTERIOR FRAME\

N

1/8° X 1/8° CONTINUOUS
(H5078> HOT MELT SEALANT:
MANUFACTURED BY BOSTIK

055 6060 EXTRUDED ALUMINUM
IMPACT EXTERIDR FRAME

SECTION B-B IMPACT WINDOW DETAIL
N.T.S.

.033“ GALV STEEL INTERIOR IMPACT WINDOW FRAME

033° GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5° BITE ON GLASS
27 GA. STEEL DOOR SKIN
24 GA. STEEL DOOR SKIN

DECORATIVE PLASTIC INJECTION
MOLDED EXTERIOR WINDOW FRAME
S5/16" OVERALL
1/8" CLEAR ANNEALED GLASS
.090° EASTMAN PVB INTERLAYER
178’ CLEAR ANNEALED GLASS

MANUFACTURED BY GUARDIAN

069" EXTRUDED RPVC INTERIOR DECORATIVE WINDOW FRAME

2. 3716’ X 1/2* SCREW - USED TO
FASTEN THE STEEL EXTERIOR IMPACT WINDOW FRAME TO
THE STEEL INTERIOR IMPACT WINDOW FRAME.

3.11/64" X 1/2° SCREW - USED TO fASTEN DECORATIVE PLASTIC MOLDED
WINDOW FRAME TO THE ASSEMBLY

SECTION C-C IMPACT WINDOW DETAIL
N.T.S.

384 MAX. DLO

108
MAX, DLO

10-5/8" DLO

IMPACT GLAZING FASTENER DETAIL

N.T.S.
GLAZING MEETS ASTM E1300-04

REV | DESCRIPTION OF REVSIONS DATE | BY
MAX SIZE - g
9 WDTH_  |§ g
14 HEIGHT | 38 SN, N
g8 A EORTEN 2
DESIGN LOADS | & "o\ A ™™ '-.,40‘), gl
+38.0 PSF KE AL RN g -
~45.0 PSF g fai KN ¢
N A
TEST LOADS | £& g
(1.5 x DESIGN LOADS) H 2‘ """"""""" ; ik S
+57.0 PSF | §2 &5 3
LARGE MISSILE | 8 S WOSIONALEN 2 3
IMPACT §¢ s ©
RESISTANCE |5 TX &
wn

ENTREMATIC

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

AMARR MODEL #1200 HERITAGE 3000
AMARR MODEL #1200 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SZE| DRAWBY RR| DA 2/10/15 DRAWNG NUMBER
B| ciExmBY RR| DAE 2/10/15 IRC-1209-155-15-
SHEET 2 OF 3




SPLICE TRACKS AT THIS LOCATION

W/(4) 1/4"—20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8"
LAG BOLTS

(SPLICE)
12 GA. GALV. STEEL g
JAMB BRACKETS

ATTACHED W/(1) 1/4™-20
TRACK SPLICE BOLT & NUT ij'

DOOR HEIGHT

HIGH UFT

VERTICAL LIFT

TRACK CONFIGURATION FOR 6’6" UP TO 14’ TALL DOORS (SEE TABLE 1)
N.T.S.

£ » Ty < 1

]

STANDARD LIFT

i

AVAILABLE TRACK CONFIGURATIONS

N.T.S.

TABLE 1 TABLE 2

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO wOOD FRAME STRUCTURE

S5/16” X 3 LAG SCREWS STARTING 6" FROM ENDS THEN 247 O.C. <1 1/2° EMBEDMENT)
X 6 VI CA A ACHMEN 000 P N

HILTI KWIK BOLT 3/8“ X 4 STARTING 6 FROM ENDS THEN 247 0O.C. (2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8" X 2-3/4’ STARTING 6° FROM ENDS THEN 24° OC. (1 1/4" EMBEDMENT)

ITW/RAMSET REDHEAD (TRU-BOLT> 3/8" X 4‘ STARTING 6’ FROM ENDS THEN 24‘ O.C. (2 1/2° EMBEDMENT)
X 6 VER M T T W C-

SIMPSON 1/4” X 3* TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS

(3 APART) AT 16” D.C. (1 1/2° EMBEDMENT)

HILTI 1/4’ X 2-3/4* KWIK-CON II+ SCREWS STARTING 6‘ FROM ENDS, USE PAIRS OF

FASTENERS (3" APART) AT 16” O.C. <1 1/4° EMBEDMENT> )

2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK <2000 PSI GROUTY
HILTI SLEEVE ANCHOR 3/8” X 2-3/4" STARTING 6 FROM ENDS THEN 24° OC. <1 1/4
EMBEDMENT) (DR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

*LAGS AND BOLTS CAN BE CDUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wDOD JAMBS BY OTHERS

DOOR TRACK ATTACHMENT SPLICE DOOR SECTION HEIGHTS

HEIGHT

HEIGHT|A|B| C | D|E|F |G| H]| S

7 13.5" 21" | 42" 76"

88"

8 (3.5"21"

t

9 (35" 21" 42" 100"

84"

3.5" 21" 112"

84" [105"

148

14 160

ALL TRACK ATTACHMENT SPACING +/—2" ALLOWED
WITH SYP OR SPF NO. 2 OR BETTER ONLY

18'

\ 1 1 1
WOaD CONCRETE HOLLOW BLOCK GROUTED BLOCK
i STRUCTURE STRUCTURE STRUCTURE STRUCTURE
2 |
1 \ \ 14 \
g 1/[ 1 l "\I
L J T L= 3
g N 1 1 _ I
£ 172" MIN 2-3/4" MIN 1-1/2" |MIN 4
2] 2X6 JAMB
el TYP. 3 MIN
al
TABLE 3 REV | DESCRIPTION OF REVISIONS DATE | BY
Section Center Stile Location MAX SIZE = 2
. Panel Type | (Measured from Left 1 Heedr | 88 ORI N
Width Edge) €8 oy ‘,SE,....’.:..TG*\\‘ =
(ft) 9 DESIGN LOADS | &% e\« A ™ T S
+380 PSF | gE 2 % 2
—450 PSF | gx % % ,/,g
TEST Loaps | 5 AS L. SHELMERDIN ’s 2
1 — A (19 s oo conos)| T3 . 8582:;{ £ g
" ] £9 . >
» < +57.0 PSF | 5% -, &L 3
| 812 [ long |  49.000 | “67.5 PSF | 53 ‘O,g--.{/cENse?.--;\\&’f §
I el N Lgarereans (- s
LARGE MISSILE | £ 5 ‘\&S(ONALQ_.-' x
IMPACT 55 LCCCR ©
| 84 | Long 50.000 RESISTANCE | =& T'X g
[Ta}

—8l6 | long | 51000 |

ENTREMATIC

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105

AMARR MODEL #1200 HERITAGE 3000
AMARR MODEL #1200 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS|

SZE| DRAWNBY RIR| DATE 2/10/15 DRAWNG NUMBER
B | GHECKED BY RIR| DATE 2/10/15 [RC-1209-155-15-1

SHEET 3 OF 3




